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Question Number : 1 Question Id : 7512365441 Question Type: MCQ Option Shuf%: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Herbariums are plant repositories ‘r@ are used as reference specimens.
Recently these are digitalized I}ggl al use.

Reason (R):  Herbarium helps in the claSsification of plants and gives complete
description about the taxofomy.
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The correct answer 1s:
8GN Sdorrddn:
Options:
Both (A) and (R) are true. (R) is the correct explanation of (A).
1 (A). (R) Bodr 2865083, (A) 8 (R) 268308 Jbden.
Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A). (R) Sodr 585032, 50 (A) 8 (R)J8508 8 526



(A) 1s true but (R) 1s false.
(A) 3833058, 59 (R) 00038 5.
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(A) 1s false but (R) 1s true.
(A) 5863056 w60, 7 (R) 505036,
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Question Number : 2 Question Id : 7512365442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify combination of incorrect statements related to cyanobacteria.
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Cyanobacteria are referred to as blue-green algae
They perform oxygenic photosynthesis in chloroplasts.

The red-colour of red-sea is due to the presence of a cyanobacterial species
Trichodesmium erythrium.

All the cyanobacterial species can fix ammspl@yiz in specialised cells called

heterocysts. (1/
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Question Number : 3 Question Id : 7512365443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List-1 List-11

A) Identification of Auxins I)  Frankel Conrat
B) C,pathway II) Charles Darwin
C) Discovery of genetic nature of RNA M) JIB.Sumner
D) Theory of evolution IV) EW. Went
V) Hatch & Slack
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Question Number : 4 Question Id : 7512365444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List-1
A)  Siphonostele

B) Solenostele
C) Dictyostele
D) Protostele
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The correct match is:
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List-1I
[)  Dissected siphonostele with overlapping
leaf gaps
II) Siphonostele with scattered leaf gaps
II) Central core of xylem surrounded by phloem
IV) Medullated protostele
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Question Number : 5 Question Id : 7512365445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) :

Reason (R) :

s (A):

8o (R) :

In pteridophytes. the gametophytes require cool. damp. shady places to
STOW.

Specific requirement and the need for water for fertilization. the spread
of living pteridophytes 1s limited and restricted to narrow geographical
regions.
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The correct answer 1s: Q/?“
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Options:
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Both (A) and (R) are true. (R) is the correct explanation of (A).
(A). (R) Bodr 20338, (A) 8 (R) 208308 J:hden.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A). (R) Bodr 505080, 20 (A)§ (R)D850%8 Ddde s°¢.

(A) 1s true but (R) 1s false.
(A) 585058, 572 (R) 905088 6.



(A) 1s false but (R) 1s true.
(A) S8RoS8 5780, 50 (R) D85086.

Question Number : 6 Question Id : 7512365446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

General function of the root system is absorption and conduction of water and minerals
besides anchoring. But in this case the roots are fibrous and become swollen due to storage
of food. Indicate the plant:
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Question Number : 7 Question Id : 7512365447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists :

A)
B)
C)
D)

Sob
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)
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The correct match 1s:
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List-1

Musa. Cocos. Colocasia
Crotalaria, Mangifera
Cassia. Cauliflower
Achvranthes, Grasses

S8l 288r0d.
588 -1

Sorpdr, 860, Swsaclr
(5e88air, rox o
oo, 520356
DPT0FP, ﬁcéa,ﬂéam

N

B ©

NV m I
B © @O
m I I
B (© @D

V I I

List-1I
Corymb
Spikes
Umbel
Spadix
Raceme

sz2ge®s

o3y -1I
D $5039
m &
m %
@%@J@
SSTap b ite
S e

Q

v
G)Q/



@a @® © O

Question Number : 8 Question Id : 7512365448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the types of fruits presented in List-I with the name of the plants given in the List-II.

List-1 List-1I
A)  Schizocarpic fruit I) Mustard
B) False fruit ) Acacia
C) Parthenocarpic fruit IM) Strawberry
D) Dry fruit IV) Banana
V) Cotton
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Question Number : 9 Question Id : 7512365449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One of the following is called as “Terror of Bengal'.
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Question Number : 10 Question Id : 7512365450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Xenogamy involves transfer of pollen grains from the flower of one plant
to the stigma of another plant.

Reason (R):  This is the only type of pollination which brings genetically different types
of pollen grains to the stigma.

gy (A): D) JYBTHoH 5000 w8 T0g NE &) PRSI HorridaPen
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The correct answer is:
00308 Sdoegrddw:
Options:
Both (A) and (R) are true. (R) 1s the correct exp@"mn of (A).
(A), (R) Bodr 56553. (A)8 (R) 0508 Sg%.
1. @
Both (A) and (R) are true. but (R) 1s 1€ correct explanation of (A).
, (A)., R) Bodr H05082. 579 (p?{ R)%883:8 2580 54,
(A) 1s true but (R) 1s false. %
(A) 205056, 50 (R) ﬁ%é& s d0.
(A) 1s false but (R) 1s true.
(A) 5853036 560, 5 (R) H0530:36.

Question Number : 11 Question Id : 7512365451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sequence of stages during embryogenesis of a dicotyledonous embryo.

&3¢ D Dodod” 28 DomPNG o SO Bdo

Options:



Proembryo — Globular embryo — Mature embryo — Heart shaped embryo

B& Dodo — e d Dodo —» HEG Bodo —» TyBairsd Dodo

Heart shaped embryo — Proembryo — Globular embryo — Mature embryo

Tryiairsrd Dodo — PE% Dodo — Fersrd wodo — BEG wodo

Mature embryo — Proembryo — Globular embryo — Heart shaped embryo

DEg Dodo — DD Dodo — oY Dodo — FTYBArE s Dodo

Proembryo — Globular embryo — Heart shaped embryo — Mature embryo
@& Dodo — A&’ Dodo — TmHRasrs s E}ué@—} 58 Dodo
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Question Number : 12 Question Id : 7512365452 Question Type: Mcwti Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical @



Which of the following are the characteristic features of the family Fabaceae?
L  Gamosepalous nature
Stamens five, epipetalous

IL
. Marginal placentation
IV.  Petals five. polypetalous
V. Fruitis a berry
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Question Number : 13 Question Id : 7512365453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



One of the families 1s characterized by the following floral formula:
& (808 DAOT8B0 28 Hotwoerds wEmomrT AL
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Identify the family:
e Sodwoard) Moo
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Solanaceae
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Liliaceae
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Question Number : 14 Question Id : 7512365454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which of the following characters are found in ribosome?

They are composed of RNA and proteins and are not surrounded by any membrane.
The membrane transports a number of 1ons.

They are membrane bound vesicular structures and rich in hydrolytic enzymes.
They help 1n the synthesis of proteins.
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The correct combination 1s: (19\/
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Question Number : 15 Question Id : 7512365455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Starch can hold iodine molecules whereas cellulose cannot hold iodine
molecules.

Reason (R):  Cellulose forms helical secondary structures whereas starch does not
contain complex helices.

Fgog (A): 208 YT O@ErES vmPoi JwPSiod. DegdSow Sr@o
o@rES wHos 58 0SB

5000 (R): eoged’d 8w 800S Braodh om0 oo :)5;]63@0&. 5°Q DoddT o
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The correct answer 1s:
SBGS Jdorgraddn:
Options: g
Both (A) and (R) are true. (R) 1s the correct exp@‘}fon of (A).
(A). (R) Sodr 503052, (A) 8 (R) @Eﬁoﬁg&

Both (A) and (R) are true, but (R) 1%\ 1€ correct explanation of (A).
(A). (R) Bodkr 0TS sﬁa&y* R)$06308 D560 5°60.

(A) 1s true but (R) 15 false.
(A) 38858, 520 (R) 653058 w°&0.

(A) 1s false but (R) 1s true.
(A) 583058 525, 72 (R) 983056

Question Number : 16 Question Id : 7512365456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) :  In crossing over, the exchange of genetic material between two homologous
chromosomes occur during both mitotic and metotic cell divisions.

Reason (R):  The process of crossing over is only possible and is mediated by
recombinase.

argpg (A): AVB0o0S SRl 508050 FoEdn JF=S ToddsS® dHoardod
EIrFd0e Hody 2doghad Srdyd adibdod.
s*8mo (R) : 85°0DI0 15 SrER IVS0cHBdy abdibids FPgndHsod.

The correct answer 1s:
é&@oéﬁ Sdrorddn:
Options:

Both (A) and (R) are true. (R) is the correct expianﬁ@ of (A).
(A). (R) Bodr 2065308, (A)8 (R) 288308 2 .

1- A

Both (A) and (R) are true. but (R) 151 correct explanation of (A).
(A). (R) Bodr 305080, 570 (A§~ )OGS DG 5.
2. @
(A) 1s true but (R) 15 fals&@
(A) 888058, 5 (R) 005056 5.
=

(A) 1s false but (R) 1s true.
(A) 585058 T8, 2 (R) 505058.
4.

Question Number : 17 Question Id : 7512365457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) :

Reason (R) :

g (A):

The peripheral region of the secondary xylem is lighter in colour and 1s
known as the sapwood (alburnum).

It 1s involved in the conduction of water and minerals from root to leaf.

B0 ey ot B8 SFod® Hotwod. &) JdTd) (seydeo)m
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5000 (R): 28 360 Sood JHE@ds 200 A, pla (RG0S’ FTotnod.

The correct answer 1s:

PO JSdrerddw:
Options:

Both (A) and (R) are true. (R) 1s the correct Explanat'@ of (A).
(A) 500080 (R) e ok 88559, (R) 36 (@@a@;é D56

1 &(1/

Both (A) and (R) are true, but (R) 1s nof/Ahcorrect explanation of (A).

(A) 526050 (R) e Bodr ﬁa@oé@ (R) 38 (A)% DOGDS 560 570,

2.

(A) 1s true but (R) 1s false. %Q/

(A) 9853058, 52 (R) ﬁ&’é&;ﬁ&h 0.
3

(A) 1s false but (R) 1s true.

(A) $0Bo56 5%, 5 (R) 0%,
4.

Question Number : 18 Question Id : 7512365458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



Which of the following are the part of the Periderm?

I Duramen

II.  Phellogen
. Phellem

IV. Phelloderm
V. Albumum
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The correct answer is:
¥ dIrSo:
Options:
ILIVand V
L IV50csn V
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Question Number : 19 Question Id : 7512365459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:

List-1 List- 11
A) Rooted hydrophyte with floating leaves I)  Limnophila
B) Submerged suspended hydrophyte ) Vallisneria
C) Free floating hydrophyte ) Utricularia
V)

D) Amphibious plant Victoria regia

V) Salvinia
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Question Number : 20 Question Id : 7512365460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are the measures that should be taken to protect pollinators?
Reducing the level of pesticides used in and around your home.

Encourage building butterfly gardens. and bee boards.

Discourage the creation of own pollinator-friendly garden.

Not to support agriculture enterprises that avoid pesticide use.
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The correct combination 1s: @
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Question Number : 21 Question Id : 7512365461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In "Pressure Flow" hypothesis, sugars are transported from 'source' to 'sink’. The initial
steps which occur during this physiological process are shown here.

L  Inleaves glucose is converted to sucrose.

II. Sucrose moves from sieve tube cells to companion cells by active transport.

IIl. Loading of sucrose produces a hypotonic condition in the phloem.

IV.  Water in the adjacent xylem moves into phloem by osmosis.

‘BBE HaSsn HBEYE ootk BY) Fe &8 Tollo S008 IAERTBOE™ RS [BSiTroherow.
& 00658 T3 DIBOHS® (Irdod woBen & §od Wrdadd dEorr Gotrown.

L J@&g #2888 Qfdm SrdnyBododod.

I 08 Lrgd Seoven (Todderen) Sod STrsmroi JFcsr pariro oo E'E sodo.
I S @S0 Sod FIE Sonmerd voyTEs %@q&yﬁﬁ@no&.

V. Ba9ddn S0l Tdsmareo Sod ﬂ‘&ééww@%ﬁ}ﬁ Q& I¢)&o.

XV

Identify the above correct statements:
25 2EE T8S JEdoor IS J“Smgﬂ@@ﬁo&:

Options: @

2.
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Tand IIT Q/v
[ 508052 III @
A

Mand IIT
X508 050 I
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[58050 IV

Hand IV
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Question Number : 22 Question Id : 7512365462 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Free-living bacteria such as Rhizobium and Frankia can help in biological
fixation of dinitrogen in the roots of angiospermic plants.

Reason (R):  Prokaryotes exclusively contain nitrogenase enzyme which can catalyze
the oxidation reaction of dinitrogen to glutamate.

g (A): @Eﬁg@’i)e& Sw0E) © 3§e§" BaDabo Hdodn (@rofalr o3I f\:ragﬁ:laééﬁé
TgoSrer B-IERS LI5Be FISK SFFako Dzow.

s¢o (R):  Sods irds £HS70 JE'2RE I0Bhw 3 I e Ardrdodim e58)8%e0
d8g T G@)8m BXod.

The correct answer 1s:
é&@oé [ d0:;

Options:

Both (A) and (R) are true. (R) 1s the correct E}iplallb@ of (A).
(A) 00050 (R) ew Sodr 96080, (R) 938 (\‘&) HOGS e

1. &
Both (A) and (R) are true. but (R) 1s ncg/cmrect explanation of (A).
(A) $o8a50 (R) e ol éa@m@m R) 238 (A)fo $ORS D5 6.

(A) 1s true but (R) 1s false. Q/

(A) 8853058, 570 (R) é@é& 5°d.
3

(A) 1s false but (R) 1s true.
(A) 5853058 50, 0 (R) $0530:56.
4.

Question Number : 23 Question Id : 7512365463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The graph below depicts velocity of an enzyme catalysed reaction vs. substrate concentration.
Identify the alphabets with correct description.

Bob (T S0t &@B)08F0d F8g ook, ITAE Jg8080m ©ERITIo MESDH JrDB0b.
OGS YIS Er&S viTro HioKd.

I  A=Enzyme activity \9
Q

A= JoZTo §oirziod (1/
II. B=Substrate concentration at maximum Velp(kry
B =#053ro 3¢ gy dorgo mEs Q/

. A =Substrate concentration at which the maximum velocity

A =%Koo ﬁﬂaﬁﬁo 5 uﬁé ém“’d

IV. B =Half of the maximum V%%

B Zﬁaéﬁﬁoeﬁ* =Tafe
The correct combination 1s:
éﬁ@éﬁ 23eh

Options:

I | |

I IV

II, I

o IV



Question Number : 24 Question Id : 7512365464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : In PS L. the reaction centre. chlorophyll 'a" has an absorption peak at
700 nm. hence is called P700. while in PS II. it has absorption maxima at
680 nm and 1s called P680.

Reason (R):  Calvin pathways occur in all photosynthetic plants, it does not matter where
they have C, or C, pathways and the Calvin cycle described in three stages:
Carboxylation. reduction and regeneration.

Ty (A): 5708 Hg39-1 & HgFrodo-a § 700 nm K e Ipdo Holwod.
g8 A0 P700 93, o8 5708 5’3533":@-11 ¢® 680 nm SKS {65 e
Jotood. st HAIJ P680 m Loz,

g0 (R): o) 88pady SodrHgoh =hisd 30 " 3910 Srgo §AVK0H.

308, C,8a C,0md0 I8.8 mﬁ&%@éa Do T, B
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The correct answer 1s: é
;‘f’aa@ozﬁ SB35 < )
Options: @

Both (A) and (R) are true. ( ig}fe correct explanation of (A).
(A) 308050 (R) en aocsy(g 6232, R) 36 (A)% $0S ISdes.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A) 508030 (R) o0 Sodr 208052, 570 (R) 938 (A)ge S8J0& Jd5de sd.

(A) 1s true but (R) 1s false.
(A) $853058, 570 (R) 853058 6.



(A) 1s false but (R) 1s true.

(A) 588058 5°60, 59 (R) 8G38.
4.

Question Number : 25 Question Id : 7512365465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are required for chemiosmosis?
L  Amembrane
II.  Aneutron pump

M. Anelectron gradient
IV. ATPase

& 808 TS AD BBIPODE THOVSD?
L &8 (Sqs58)
L &Soegére S0

L Q@@;S SEATE é
IV. ATPQ& C)
The correct answer 1s: J

385308 BEPTS0: &@

Options:

[&ID

O&II
2

[&IIT

[&IV

Question Number : 26 Question Id : 7512365466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arrange the following in the order of their occurrence in the glycolytic pathway:.

L Triose bisphosphate — Triose phosphate

I.  Fructose-6-phosphate —_— Fructose 1. 6-bisphosphate
. Phosphoenolpyruvate B — Pyruvic acid

IV.  2-Phosphoglycerate _— oy Phosphoenolpyruvate

V. Glucose-6-phosphate — Fructose-6-phosphate

VL  Triose phosphate — 2-Phosphoglycerate

8o W& & TES, Treil Srdos® Ty ANV SHIES0s® wddod.

I o&rE a2y —_— GBS TR0

IL @%é-&#‘%m —_— WEE 1, 6-@)5::#‘?:3@
I &Fyonsd DEPIE —_—y :@6@? e590

V. 2-33HA808 — oIS REHIE
N ﬁJjg‘g 6-3""@:}3@3 '—}&(\é@;é-fi-ﬁ‘f’ﬁgm

VL (@S> oy 4()@ 2-FINNSTLS

The correct sequence 1s: @

BBGS SEBES0: Q/v
Options: &%

vV, VI, I, I, IV, III

IL- L. IN, W, I VI

MoaL N L VL I
V. II, I, VI, IV, III

Question Number : 27 Question Id : 7512365467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the reactions where energy 1s produced:

I Malic acid + NAD® __ Malate dehydrogenase _ qvajoacetic acid + NADH

Citric acid —2<22€ _, ¢is-aconitic acid + H,O

II
Il Succinic acid + FAD —Stecc dehydrogenase . pyymaric acid + FADH,
IV.

Succinyl CoA+ADP+ Pi Tfﬂ“i’j; —> Succinic acid + ATP+ CoA.

Oxalosuceimce

Oxalosuccinic acid —5 —20"— o-Ketoglutaric acid + CO,

-

§od ':';:6"2;26:’1 SE5S” ¥ g 5"&}&"‘6’?’1 LB okod.

I 5508 esdoo +NAD™ _ST08a47@eR | oypes® HR0¢36 esdyo + NADH

DBE edio RV , 5505238 edo +&@

I
L &3 eiyo + FAD SRE4TTE | ﬁg 30 + FADH,
V.

58,26 §-J080 + ADP + Pi Tﬁ%% 588 esfioo + ATP + CoA.

V. esd 3828 edo %@ 085 Kper0E edoo + CO,

The correct combination 1s: %Q/

SOGE @ A

Options:

LILIVandV
LILIV%8asnV

MLOLIVandV

IL IIT, IV 508030 V
2,

LOIandIV
LIl S508050 IV



MO and IV

I, IIT So8.cdan IV
4,

Question Number : 28 Question Id : 7512365468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The foolish seedling disease in rice seedlings is caused by a fungal pathogen.,
Gibberella fuzikuroi.

Reason (R): E. Kurosawa reported the appearance of symptoms of the disease in
uninfected rice seedlings when they were treated with sterile filtrates of
the fungus and the active principle was identified as Gibberellic Acid.

gy (A): S0 ) ©&° B HEfB @I 300(S ad¥o 283 F7ghA (foolish
seedling disease) Eeorimdod.

820 (R): QBDT T THOHITS 0T G0 SrFRS é@ﬁoﬁmg 2O0|EY Mmoo
WU 2003 TES® T3 vfaT do&Trown. & (Bodriw ST

& @

220008 esdoorm™ MBoords. &
- = =

The correct answer 1s: Cj@
HBBDoS BEFErSB00: @

Options:

Both (A) and (R) are true. ( g{e correct explanation of (A).
(A). (R) 3o éa@eﬁ:}.’&) & (R) 988 D58e0.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(A). (R) Bodr 205082, 570 (A)§ (R)D850s Db s°d.

(A) 1s true but (R) 1s false.
(A) 853058, 572 (R) 05058 6.

(A) 1s false but (R) 1s true.
(A) 885058 578, 2 (R) 9853086



Question Number : 29 Question Id : 7512365469 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:
List-1 List-11

A) Photoautotroph I)  Nitrosomonas
B) Chemoautotroph ) Rhodospirillum
C) Photoheterotroph ) Salmonella
D) Chemoheterotroph IV) Chlorobium
Bod 2P =88rdod.

588 -1 588 -1
A) 5708 Soodasren ) JE&&F3rao
B) &&ofd Sgododruasten H)S’ cS"‘é”‘Eﬂé‘gﬂ}
C) st0f Jsuaed @*aﬁ"‘;ﬁa{:
D) S3c5s HEFns IV) §6°0abo

The correct match is:

A
&
e
OG0 2368
S 3
@& ® © Aé?

I\Y I I I

Aa @ © @O
Aa @ © @O

A @ © @D



Question Number : 30 Question Id : 7512365470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements related to viruses are incorrect?

Antibiotics can kill viruses

Viruses are inactive outside the cell

Genes involved in viral metabolism are located in the viral genome

Phages can multiply by two alternative mechanism, the lytic and the lysogenic cycle

fBR"

D8 Dowofod Bod Tgwgen 2D ST (FESD.
SrfiEdTise ool Foysrow.
200 Jeode ITVen ﬁé;&oﬁré&éoﬁ Jodrow.
IS LHBohosh EES adogder 0" JfJo Vohad Hodrow.

A B8 T

28T SN HEES 5By SEE D8ty BABIS Bodkr ITTY JFY T
TRy NG Todgrow. \9
The mncorrect combination 1s: ‘1/

ééﬁﬁ’c\’na’?}_ oo é
Options: C)

I II $

I I &
2. &%

II. III

11 R AY

Question Number : 31 Question Id : 7512365471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In a cross between true-breeding (homozygous) red-flowered and true-breeding
(homozygous) white flowered plants. the F, progeny was pink. The phenotypic and genotypic
ratios in F, progency were 1:2:1. This 1s because of:

QB Yo Ko IoH D (DJddnMyzo) Beod JToo Mo 30E) (SJodswM)zo)
088800 HBGHS Padsos’ F ddo Ingen dherddord Hirjodanown. F,ddod*
23633956 Sydg 00 adogdrd NG 1:2:1. &8 580
Options:
Dominance

e&ﬂ}'ﬂgé éﬂgo

Co-dominance

S-0IES80 Q’\?)

(e

VI0IE wrdsEco @

Hybridization Q/?~
HoE8EEDw &%

Incomplete dominance é
@,

Question Number : 32 Question Id : 7512365472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following lists:
List-1

A) Back cross

B) Test cross

C) Heterozygote

D) Homozygote

Bod JH&Zodn 288rGod:
2838 -1

A)  D¥) SoElmdw

B) %85 Hodfeadmw

C) Jddocdnmyz=o

D) &Socinayeo

The correct match is:
HOFS 28!
Options:

(A) (B) (C)

, N V I

(A) (B) (C)
\Y m I

I
1D

Im)

V)
V)

I)

1)

IV)

List-11

It 1s the genetic make up of an individual.

An mdividual 1s having two different alleles for a single
character. Consequently it will produce two different types
of gametes with reference to a gene.

An individual is having two similar or identical alleles
for a single character. Hence. it will produce only one
kind of gametes with reference to a gene.

If the F, progeny are mated back to one of their parents.

The cross between F, progeny (or heterozygotes) and
their recessive homozygous parent.

S8 -11
8 228 T30S %Eﬁ)gwﬁa@:ﬂgwﬁm;ﬁg 8075 wodo
2.8 22e5° w8 ofed 080 Bod 3"3563 cﬁ:oi’i&

DETY € ITOD. ;}(E)Bpﬁ“ adogdEy dowohod) To

G momﬁ@g &S wr.
2.8 2S¢ B8 Jowodod &8 SEIS oS0aiy

D0 4 . 308 & 20 B dowofod &36@“6
ISTelenyy 88 28,
F, #0898 TobS D088 Tog) o o adtost aﬁlé‘sgﬂ“r?&)

::Uah:‘é}u.

V}@oé@ﬁ (B8 Daocsnryzyd) dHockoKR, Bosss

%@@i &) wd80 207 doddmo.



(A) (B) (C) (D)

(A) (B) (C) (D)

Question Number : 33 Question Id : 7512365473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A bacterial strain S was heat killed. Another strain R (living) was taken and mixed with
this S strain. This mixture of S+R strains were injected into mice. Which of the following

are observed by Griffith?

L The cells of S strain were dead in dead mice

Il.  The bacterial cells without polysaccharide coat are transformed into virulent strain in
the injected mice

II.  Griffith could not find living S strain in the bod ad mice

IV.  Griffith could find living S strain in the body d mice

S~@m&5 aﬂé&oﬁ:o S8 Toe Hodwdod. & @@5 (£J0RB0)), & = Pooed

Boodwdod. & STRguns Eir), 08 § (DST0L2E0. |06 & Bod HiudoD

320 HHdoarda?

I S0&ond Q8w stgm{(;ﬁwm B3 00.

I DoEsrd @3Fags QQS@&@T#’EE FEIHBI wrg0oH S Serren 1 HavoSeorr
HB8HED Bomrad.

I S0&Fons QPossd, (28 2889F) S Hondd EHTSTE

IV, S@Fonsd D80 (106 88X S-Honads 8T,

The correct combination is:

éﬁ@oé Seons:

Options:

[.OT

1L T, IV

2.
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OoIv

Question Number : 34 Question Id : 7512365474 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Between DNA and RNA. DNA is a better genetic material.

Reason (R):  2'-OH group present in every nucleotide in RNA 1s a reactive group and
make RINA labile and easily degradable.

g (A): DNA,RNA o&* DNADSS adog Sargo

gm0 (R): RNASR 98 2§ SrgfBrBes® P& 2'-OH S50achin o8 |Boiriws
P E0ITT G 50 ﬁf%:ﬁéoﬁ SABonod ﬁé@é’@:o@o&, Sod ol S
2B\ Bokob. Q

The correct answer 1s: é

m@oa’: BTN

Options: @

Both (A) and (R) are true. (R) correct explanation of (A).
(A). (R) Bodor 20082, ,{gﬁ (R) 2065308 Dhen.

1.

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(A), (R) Bodr $85052. 570 (A)8 (R)D850& DHden 5°¢.

(A) 1s true but (R) 1s false.
(A) 883058, 579 (R) 905058 5.



(A) 1s false but (R) 1s true.
(A) 5853058 570, 50 (R) 5853058

Question Number : 35 Question Id : 7512365475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

These triplets among 64 codons do not possess any understanding to continue the process
by association with their anticodons.

64 Flod’ H& & 8 Sodow, volSFod I Svons $dy FIFhotitodo
©FoBHE HLrE DIBrABED.

Options: %
UUU,UAA, UAC Q\'
1.
NV
UAA.UGA.UCG @
2.
@,

UAA.UAG UGG @

UAA UGA.UAG
K2

=

Question Number : 36 Question Id : 7512365476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

H. Boyer & S. Cohen are famous for their research work on

H. 55°c%86 So8csn S. 855800 o780 H0§ddes® & Sokods® Qo two?

Options:

Structure of double-standed DNA

Boty Fdo DNAJoyo
1.



Construction of the first artificial DNA molecule
003 3008¢3 ég@aé; DNA 2o goi8

Discovery of restriction enzymes
ORES QB0 Sl

Invention of Polymerase Chain Reaction
FOJBE BS 005rES EADYGO

Question Number : 37 Question Id : 7512365477 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
In a restriction enzyme digestion experiment. a Dl?ﬁtxag/mem of 1 kilobases length 1s

used. This fragment harbors three 5-GAATTC-3' regtriction sites. After the restriction
digestion of this fragment with Eco RI, 3 DNA fragfitents corresponding to 500, 300 & 100 base

pairs are observed in the agarose gel electr #s1s (AGE). Predict the positions of the
restriction site (GAATTC) in the undigested L kb-fragment which will result in the observed
bands in AGE.

o8~ JoBo £gBod @ﬁrﬁé@?@eﬂ*ﬁﬁ Féfo =8 DNA poderq) armdo.
& poddods” Sz S-GAAMIE

Bod dovd 500 578 ad, 300 58 28 o0diw 100 576 zdeds §8nd Soardo DNA
PoBTON WiESE BS Jﬂ@@ﬁaﬁ*&]ﬁ} (AGE) &° #50Qoardn. £gosQ 1 kb po&sgoi
AGE & 35838008 agod” 8@35 Q;S’)o (GAATTCO) de ﬁ'q;;ﬁ&:ééa €00k,

' podé FTen JHITow. EcoRI & s;::oc'?s@“@u)_ 2go

Options:

100. 300 and 500 base pairs
100, 300 So8c3x 500 578 =228en

100. 200 and 500 base pairs

100. 200 &080s 500 578 228exn
2



200 and 500 base pairs

200, 500 508 =2éen
2

100. 300 and 800 base pairs
100, 300 S0803 800 578 =2¢en

Question Number : 38 Question Id : 7512365478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Bt toxin exists as nactive prototoxin but once an insect ingests the mactive
toxin, it is converted into an active form of toxin.

Reason (R):  Protoxin gets activated in insect gut due to the acidic pH in the gut, which
solubilises the protein crystals. (b

Tgpg (A): Btérsyo ﬁ@oﬁ?é&é @rérsom @Q;j% 579 2,538 S&¥o R}E’%oﬁrééé
er§edo £go V808 ©b \BASFEVr ST Srdhdob.
w6mo R):  bio edairs MHEASS L@gﬁjﬁm o3 TTESD wsy pH 503

PR Eégéﬁ?ma’xn é&ﬁoﬂé@é&éom WS le ST RTeTA T

The correct answer 1s: Q/?
m@oé SRS %

Options:

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A), (R) Sodr 58530352. (A) 8 (R) 285308 Jh8e.

Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(A). (R) Bodsr 565080, 20 (A)8 (R)D8508 Dbk 5760

(A) 1s true but (R) 1s false.

(A) %8858, 520 (R) 905058 5260,
=



(A) 1s false but (R) 1s true.
(A) 5853036 w0, 0 (R) H050:36.
4.

Question Number : 39 Question Id : 7512365479 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists:

List-1 List-11
Crop bred by hybridization Resistance to disease
A) Wheat I)  Blockrot and curl blight black rot

B) Brassica I) Mosaic virus, leaf curl
C) Cauliflower IT) Leaf and stripe rust, hill bunt
D) Cowpea IV) White rust
V) Bacterial bligl{b

Bod HEIES 285808 (19

508 -1 5e3g/

20860 T & (Huddo % & ATEES
A) &od I) 050y, Dk BE Sy

) 51@;&:;5 D Hobcsn wde Kok B, irdwodd
D) & & IV) 8o Swobd Broed
V) a:ﬁ&&oﬁ;ef [E

B) @Erose : E 3o0ezmon§ B0, whodoodod

The correct match 1s:

é&g@oé 2365

Options:

@ ® © O
v m Vv I

W @ ©O© M



@a ® O O

.V m v I

A B (© (D)
1I Y% \Y I

Question Number : 40 Question Id : 7512365480 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The agent used to control insect populations:

88 Dompgdo JohoGothtrdy wHBrHod S EESW:

Options: g
Bacillus subtilis Q\'

Tood SHBOS

Nucleopolyhedrovirus
Srp S B TS BSE @

Azospirillum &%

o255 51080
Azotobacter

e erE S

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct sequence of hierarchy in the classification

A Phylum
B. Family
C. Order
D. Class
E.  Species
F. Genus
5088 @rErdgEiod’ $38 HEQ) fgowod.
A .;’;-go
B. &.dwomo
C. (B580 O
D. Jzrio (§/
E 8 &
Options: @

A-B-osD—-sC—oSE->SF

A— B’—}D’%C—}F%E&%

2
A—-D—-C—=B—=F—=E
3.
LS ) Y LY B Y RN
4

Question Number : 42 Question Id : 7512365482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements with reference to greater biodiversity in the tropics.
A The duration of time available for species diversification is limited.
Solar energy and water resources are available in abundance.

B
C. Tropical climates are not constant and cannot be predictable.
D. Tropical latitudes have remained relatively undisturbed for millions of years.

GRS wE 2AIATYE Jdonodod T/ Trpgods MHBodod.
2Ho IAFgo FI% 0hod ToHgHd H0JEBs0

A

B. 648, 08 S eigd e@bdddo

L ﬁrga’uoém TES80 DO vHJorr G 0o&, VoTHoN o GodLo
D

ok wFroTe oo oSS 88 dodd)oren ydomr voudiwid

N
QY

T LV

B&D @O@
B&C v

> @
C&D &%

M5 HvomE droddio

Question Number : 43 Question Id : 7512365483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statement with reference to ‘Enterocoelomates’.
Body cavity is formed from endodermal pouches

They display determinate type of cleavage

Enterocoelomates are deuterostomes

Hemichordates are enterocoelomates

onwe

‘wog 968 Soird’ dhoss Jowohod) S0 Tgmges K8owod.
A H58 Bodrdo woddcl Fre Sob J8yddiod

B. ad utd I8¢ @a8)Ra

C. o 368 S8 ddheo Hraoh Sopgrdoe

D. Trusgir 2o so 08 5o (b

Options: (19\’

A&B

. C&D ((,$

A&C

Question Number : 44 Question Id : 7512365484 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

SET -1 SET-1I
A)  Os penis I) Sesamoid bone
B) Girdle I) Visceral bone
C) Patella I[IT) Cartilage bone
D) Cranium IV) Investing bone
808 TEI aEHSB®.

588 -1 588 -1
A) =D AR ) d3d>ro0n& J508
B) Sipe ) eodorol JH0E
C) 359 EJ&J 20 w WS
D) &&Freo & Doo8

The correct match 1s

IT)
V)
A
QQ/
56308 S°E0D @
Options: X

A B g D ((/

A B C D
., NV I Im I
A B C D
. I I m N
B C D
m I N

4.

Question Number : 45 Question Id : 7512365485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Planaria possess high degree of regeneration capacity.
Reason (R):  Planaria exhibits ‘polyembryvony’.

s (S): DIBIrS’ PIDSHE @&é@gmﬂ* € otnob.

sdwmo (R): SEIesty ‘z&@&ﬂ:odﬁ@“ﬁg?ﬂj BE8R08.

The correct answer is
OGS Darerddn
Options:
Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S). (R) Bodsr 28G5, (R) (S)50 20808 Db 2:d008.

o)

Both (S) and (R) are correct but (R) is not the (D&cr explanation to (S).
(S). (R) Bodr $653082. (R) (S)s0 ﬁag@w:ﬁm Qg0 Be.

z- RS
(S) 1s correct but (R) 1s not ¢o g‘

(S) 585258, 5 (R) éa%

(S) 1s not correct but (R) is correct.

(S) $888 3¢, 5 (R) $BSB$6.

Question Number : 46 Question Id : 7512365486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The spermatheca. which receive and store spermatozoa in pheretima are present in

20TrS” HESeTrodD Kired, Jd o DETErEenod podare.

Options:



17t 18t & 19t segments
17, 18 & 1935 modaren

o 7t gth & 9th segments
6,.7.8& 935 poderen

11% & 12t segments
11 & 1235 podorew

10t & 11t segments
10 & 115 poderen O
: >

Question Number : 47 Question Id : 7512365487 Question Type: M tion Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

elements and muscles ks coelome and viseral organs.

Statement (S) : Chordates have a tail e}{tg Gug posterior to the anus. It contains skeletal
Reason (R):  Inaquatic D]‘galliﬂ%]m'ts as a balancing organ.

Fgg (S): SEFdsrodst % Falnpio SHSrfods” FdAotwnd Goluod. 2b
wRdond Sore éﬁ“cgﬂ:a’n, Bodored 08 wod, ¥68 Soido, woddol
©H0NT o0 DEOT otnod.

8o (R): 2088 dHod® ad ddhdhoge edchdom ST

The correct answer 1s
HOGS DEFEHS
Options:
Both (S) and (R) are correct and (R) is the correct explanation to (S).
(S). (R) Bodi 2833:32. (R) (8)80 285308 D80 2dy0b.



=

4.

Both (S) and (R) are correct.
(S). (R) Bodr H58503.

(S) 1s correct but (R) 1s mcorrect.

(S) 58558, 50 (R) 85058 5.

(S) 1s not correct but (R) is correct.

(S) 565358 ¢, 59 (R) HoG0S8.

Question Number : 48 Question Id : 7512365488 Question Type: MCQ Option ShL% : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical '\/
Which of the key adaptations helped evolutionary s@s of Reptiles on land?
A Warm-bloodedness
B.  Pulmonary respiration and dry scaly sld@
C. Internal fertilisation C)
D. Amniotic & Cleidoic eggs @
& 800 T8 2 §of @ma%m S0 yreo Fg eTd D0 Duairds

DD 0. ,@

O

358 SSgEn
D% TgHBO%H, Fevoes SraS FESG0

é;“

0088 Hodidon

@

&) PIrd, ST M

Options:

1.

2 B C

B.C&D



A C&D

AB&D
4,

Question Number : 49 Question Id : 7512365489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following :
Set-1 Set-11
A) Stuchonematic I) Monas
B) Pantonematic ) Urceolus
C) Acronematic ) Astasia
D) Anematic V) Pﬂ@ma
V) 8\? omonas
808 A 2SHBBDw0. (1/
2838 -1 & o -11
A) EISrSE O s
B) Jol*dsrsE @ ) edakres
C) AEI5»EE J ) e
D) 205788 ,@ IV) oo
V) @goF3roo

The correct match 1s

HOG0S FE0Y

Options:
A B C D
I A% I Ir



II I
3.

A B
s IV I

C D
I I\Y
C D
I I

Question Number : 50 Question Id : 7512365490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : In ciliates, conjugation restores the vigour and vitality which are lost due
to chromosomal imbalance in the macronuclei due to repeated amitotic
divisions.

Reason (R):  Conjugation is temporary union of senile ciliates belonging to same mating
types. It often prevents exchange of nucleal material.

g (S): DI HYEHB[og 0I5 VIS D (@ S émmﬁo@ﬁs’uej‘ 93»'533
F3rdne edddogd S o0H RBIIEYY, odoodo
SICIoNSRTpp IV 2O Eees® ag) 208,

s o (R) 1 235345 Shond 8 & @sﬂ'@}é BoBS 2O Hogg 20h &°E) 88
Swows doddwio. E:!rfb o Bo|E DTTO VW) ATHI08.

The correct answer 1s %

BOGS HIPGHBH0 A

Options:

Both (S) and (R) are correct and (R) is the correct explanation to (S).

(S). (R) Bodkr $6033. (R) (S)80 $8g03 JS8m 2508

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S).

, (S). (R) Bodkr $0g30:52. (R) (S)% 200G e adcdo S,

(S) is correct and (R) 1s not correct.

(8) $883088, 52 (R) 565058 5.



(S) 1s not correct and (R) 1s correct.

(8) $8038 T, 5 (R) HBSBoS8.

Question Number : 51 Question Id : 7512365491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify correct combinations.

Primary Host Secondary Host Parasite
A Man Culex Wucheraria
B. Man Anopheles Plasmodium
C. Man Musca Entamoeba
D. Man Absent Ascaris
88 Fo¥loYhosy wfotiod. g

FENE w&Fow &o8od 83w Q DoF) £

A SrSH sy A 3600
B. Do T é')f()@ FIBabo
i UL Tect! ﬁ?r@ Jodrdoerr
D. Br5H Nz &3965

&
Options: &%

A&B
B&C

C&D

A&D

Question Number : 52 Question Id : 7512365492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The mterval between the first entry of Plasmodium into the blood in the form of sporozoites
and the second entry in the form of cryptozoites 1s called

FHdabo PEFdom FGerond) Jrdod” JEos” HIoVINE foé To&F0
EFamontnm JEoS's TBIGH 1T gy sod:

Options:
Virulent period

) D&Bodd srw0
Latent period
a8 sPeo

2

Incubation period Q‘\c/b

FER 5Pe0

A
Prepatent period O@
@ 2B smeo @

Question Number : 53 Question Id : 751236 estion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option tation : Vertical



Match the following :

Set-1 Set-11
A) Benzodiazepines I)  Euphoria
B) Barbiturate ) Depressant
C) Herom (Diacetyl morphine) II) Sleepiess
D) Cocaine IV) Tranquilizer

§o& AR 2dDdathhw.

D&% -1 De38 - 11
A) BoF GolrenS) D eod g8
B) erSwogiidden I &Hofde EDA0EH
C) Toons (B985 578y) ) QEsNYEdRoTD
D) §3s V) &é?ma

The correct match 1s @
HBGS FGo C)
Options: @
A B C D ((/?“
I I I IV

A B & D
I

.1 m N
A B C D
. V. m I I
& B € D
, VMV 1 m I

Question Number : 54 Question Id : 7512365494 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The cells of fat body of cockroach which contain symbiotic bacteria are

DTESS E..T‘*E%Eﬁodrmééo §Oh ol Q08 FY) TTrgearen

Options:

Mycetocytes
BREPE

Trophocytes
& TRE)

Oenocytes

S0 Q\c’b
V

Urate cells é
S0 Eearew @C)
4,

Question Number : 55 Question Id : 7512365495 Quedtign Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Oria%kn : 'eertical

3.

Identify the correct Sequeuc& flow of circulation of blood in Periplaneta americana

& (Bo8 S(RAS DOXTLr ODOST S EEHHGPY HOS DT MBoSea.

Options:

Heart — head sinus — aorta — pericardial haemocoel — perivisceral haemocoel
and sternal haemocoel

08 - do Fhlo —» TP - THBdirdde JERTE0 —» Ddorgodorof
JEBSE0 H0oiw BdE Hof JERTdo



Heart — pericardial haemocoel — aorta — perivisceral haemocoel and sternal
haemocoel — head sinus

$0B —  TBcirddem S8BT o TR - Dorgodoron Jodasw
G838 Do H§krdo —» o §Ldo

Heart — aorta — head sinus — perivisceral haemocoel and sternal haemocoel
—s pericardial haemocoel

M0B —  HFFEHY —  de Bado — éﬁ“goéa‘“oﬁ S0805n &a8 Hod
ggsdo — ‘fchﬁoﬁJ?é")éea g88odo

Heart — perivisceral haemocoel and sternal haem{:-c%—:» pericardial haemocoel
— aorta — head sinus

0B — éo‘guws“oﬁ S00cn a8 Hul 55&}%@ — m&iﬁoﬁrﬂcﬁﬁ ggBoT 8o
3 S0FESN —  de Babo

4_ &

Question Number : 56 Question Id : 7512365496 Questi e: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientati(% tical

Thermoreceptor sensillae of @q ach are present on

TEOES” eQTE ﬁ@é‘d\jwm & §od TV wotron.
=~ © el b

Options:

Maxillary palps

- g -~ -
2od)s” ﬂgﬂ‘;uﬁo

Antennae

ﬁgiﬁfg Fa’;}o o



Tarsi of legs
5HS” o &G

Labial palps

ey ﬁgc:“j;oﬁf.)
4

Question Number : 57 Question Id : 7512365497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Very small animals are rarely found in the polar regions.

Reason (R):  Small animals have a larger surface area relative to their volume and tend
to lose body heat.

g (S): 28 AJ) zoIw G (Foorod® © w’ Sdaxdaron.

8o (R): AF) zodhPeoo T8 AT IHBS 808 Q&N edbde ITego
8OA soddo Jo wudRo é{@o&.

The correct answer 1s @Cj

QOGN DArerdaw

Options: @E

Both (S) and (R) are corr %ﬁl (R) 1s the correct explanation to (S).
(S). (R) Bod éaq@:é:}.% (S)8o $8GBsd DHYes.

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S).
(S). (R) Bodor 258330850, (R) (S)80 50808 e 578,

(S) 1s correct but (R) 1s not correct.

(8) 585058, 57 (R) 5630856 6.



(S) is not correct but (R) is correct.

(S) $8g058 52, 52 (R) H8&038.
4.

Question Number : 58 Question Id : 7512365498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following :

Set-1 Set-1I
A)  Endosmosis High altitude adaptation
B) Exosmosis Desert adaptation

Problem for fresh water animal
Problem for marine animals

C) Metabolic water
D) Increase in the RBC production

Bol TAQ e HBothhw. cb
De3E -1 (1/@'\;6 - 11

zge>°

A) @08l BTHSEe Q8N |Tod edsrodo
B) eordg ($Trdd8e CJ%D QT8 Bdsroco

C) Z30sr 2e0sm @ I) 50008 £ JHodg
D) JESEseTe ©HESHS v IV) %50 dHe Hs0bg

The correct match is ,@

5O FEON

Options:

A B i@ D
.1 m N I

ve
M
-



i
vo)
!
o

Question Number : 59 Question Id : 7512365499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following pollutants competes with oxygen for binding to haemoglobin
and mterferes in oxygen transport?

Bod QB@AS TWRITEFOS® 8 shius TIFTASE wodotuddos’ FEIE e
ETreared” wodorado EDAN0E?

Options:
Carbon dioxide
5163:5 E@ELJE

Sulphur dioxide

55*‘:‘.21“:]5 ngﬁ é
@

Carbon monoxide $
e IrTB)6 Q/

Nitrogen oxide

S0 Wb

Question Number : 60 Question Id : 7512365500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The cells which remove unwanted substances and microbes that attack the liver by
phagocytosis are

5800 BToEIChH Swruds, TP TERW SrgiEdHots Eadin oo Fofion Seomen

Options:



Neutrophils
Sorgid' Seo

Kupffer cells
o Eegrew

Mesangial cells

D moRahE Eogren

3.
Monocytes
S wiien
. 9
Question Number : 61 Question Id : 7512365501 Question Type: MCQ ,Opti uffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

W
&6 PerRo Bl v
Options: @

Alterations in the levels of C&@l pH has no effect on the affinity of O, with hemoglobin.
CO,. pHFonod" 5578y s, TIFTOS Hody Ko voodow Jerodd [HarHo
e a3 830,

Bohr effect refers to

Increase m CO, and pH in blood results in decrease m the affinity of O, with
hemoglobin.

8g0s® CO,. pH o 2dihde rI3rfidss efius odowomd) $hdob.

Decrease in CO, and pH in blood results in an increase in the affinity of O, with
hemoglobin.

850e5* CO,. pHo dhde rIrfass’ efjad efworrd) wohdéod.



Increase of carbon dioxide in the blood and decrease in pH results in the reduction of
the affinity of hemoglobin for oxygen.

8goe5* CO, Fon 2HMGe, pH $Hide sfast TIrfdls’ fo odwor)
SH0G.

i

Question Number : 62 Question Id : 7512365502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o

S). (R) Bodr & S
1.()(}3 QQ@Q%)

Statement (S) : The sinoatrial node 1s called ‘Pace-maker’.

Reason (R):  The sinoatrial node contains specialized cardiomyocytes and generates
action potentials without any external stimuli.

Fgmg (S): DT-805° B0 ‘woirdogiio’ ol hHeodnd.

gm0 (R): Do 805 Eeode” woB Tydodd éocé%emm g8 SHom
Bolrisod wE8 Tz, Q’\/

The correct answer 1s &

éﬂ@o:ﬁ PRI ETeIS00 Cj@
ptions: @

Both (S) and (R) are correct au@?s the correct explanation to (S).
S8G S D 0.

Both (S) and (R) are correct but (R) 1s not the correct explanation to (S).
(S). (R) Sodor 50330850, (R) (S)80 205308 e mdgdo Se.

2.

(S) is correct but (R) 1s not correct.

(S) %88058, 5 (R) $05058 5.

(S) 1s not correct but (R) 1s correct.

(S) %858 565, 59 (R) $BGLE.

4.



Question Number : 63 Question Id : 7512365503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Following events are associated with blood pressure regulation by kidney.
A) Formation of Angiotensin IT

B) Secretion of Aldosterone

C) Fall in blood pressure

D) Reabsorption of Na™ from distal convoluted tubule

E) Release of Renin

F) Restoration of normal blood pressure

G) Conversion of Angiotensinogen to Angiotensin I

H) Activation of Juxta Glomerular cells

& 1808 2BES Sodrtaden 5)8 50D CEHES ESE5 HowofoRL.
A)  sozdrdQs-II J8kw \/

B) sdhoo ©@Iothb (19

0) ogbaso Shie A

D) &roidon®d o' Na” @oﬁ?@%éﬁ%‘am

E) 3Bdn J&de @

F) &5do S§288 @s@gs%?‘

G) wsoadrdYysas, %3?5@5—1 m Sedyetod
H) a§ir Adrerd §oddh &8uaddh

The correct regulation sequence is
S8 Eheddo
Options:

D-H-C-A-B-E-F-G
C-H-G-A-E-B-D-F

C-H-E-G-A-B-D-F



H-E-G-A-C-B-F-D

Question Number : 64 Question Id : 7512365504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement with reference to shortening of sarcomere

#6‘55&0505 P 6 ) SHdoi Soa0fod ﬁ@éﬁ J“g:pgﬂ:éﬁj HoBoods.
Options:

Z membranes brought closer, A-band unchanged. and I-band reduced m length

Z-ggareon K™ 200, A-é% chgrddom & ob, I~§}é§ i Shico

7 membranes brought closer, A-band and I-band bo’ﬁ&duc ed in length
Z-Srareon SHEM 200, A-D8, 8o 28 ﬂ&

. A

Z-membranes unchanged. A-band anS Gyud reduced in length

Z diaren chrdor &od, A—‘%‘ Sdo 3EH Sifto

3. Q/
Z-membranes brought clgg@b and unchanged and A-band gets reduced in length

Z Sgaren SES™ 200, 158 chmdsor wod, A-DS ddH SKdo

Y

Question Number : 65 Question Id : 7512365505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : Damage to cerebellum results in uncoordinated voluntary muscle

movements

Reason (R):  Cerebellum 1s responsible for the control and coordination of locomotor
MOVements.

g (S): 2DVN,0 B8HLowd JHSioh Fird Joho@8 okd EEOEw
0o & oo.

gm0 (R): Aol 8080 Jadbogen, dodiofdnd edddfo d80d086.

The correct answer is
DOGEoS DdrErShw
Options:

Both (S) and (R) are correct and (R) 1s the correct e@natim} to (S).
(S). (R) Bodr 566032. (R) (S)% 26530 :J.;r:.

A

Both (S) and (R) are correct but (R) 1s @ correct explanation to (S).
(S). (R) Bodo 5833082. (R) (S)% &S DHee 5780,

((/?‘
(S) 1s correct but (R) 1s n&@rect.

(S) %8558, 59 (R) $8VSE 5.

(S) 1s not correct but (R) is correct.

(S) $8g058 5%, 5 (R) H8&038.

Question Number : 66 Question Id : 7512365506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following statements are true for progesterone EXCEPT ONE

DEQOE Do20HoNd TrgPpgen IBI, WEE S

Options:



It prepares the uterus for the implantation of blastocyst

E]

28 YR WETIIL AonFoIrd) ddo BXod
oo B - IR - & =% zad. Lok —0
It causes formation of alveoli in the breast and helps in secretion of milk

§8 Hodoees® w5 BT fﬁa‘gt&:)sﬁo (2820 éﬁ*égg‘gﬁ TSN EB0H

Its withdrawal prolongs pregnancy

& P00 By wRvorde (T i FIrntyed
3

It inhibits contraction of the uterus

o O
28 ﬁoﬁﬁjéoﬁj R0 Trod AGE0H \/
>
A

Question Number : 67 Question Id : 7512365507 Question Type: r@)ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical C)

S
K2

4.



Match the following.
Set-1 Set-1I
Adult hypothyoridism
Congenital hypothyroidism
Todine deficient diet induced hypothyroidism

A)  Cretimism

B) Simple goiter

C) Cushings syndrome
D) Myxedema

3553

Hypersecretion of glucocorticoides

Bod T &BBohaw.

588 -1 558 - 11
A) B8z D @ 3rdSH0S” TTAIPoron b
B) $%8¢ maned ) He¥S S0EdoB TIFForowndasd
C) &soaoh) do@ M) es5goes 'f‘_.rfm*éﬁ &S00 S0 DoFloB
m@“@o“‘m

The correct match 1s

HBGS S*&oY
Options: @
A

IR | &S

A B L D

D) Do§dds IV) ﬁ???@p&ﬁﬂ SIA AN

. M I m N
A B € D
I m [0 N
3.
A B C D
, I m N I

Question Number : 68 Question Id : 7512365508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:
Set -1 Set-II

A)  Vaccination I)  Artificial passive immunity
B) Granzyme release ) Cell mediated immunity
C) Lysozyme mediated M) Artificial active immunity
D) Anftivenin IV) Innate imumunity
ol AR 2dDdodhhw.

238 -1 wedg -1I

238 -1 2838 -11
A) 53834 D §éd 3y &HIe’EEs
B) (ToaS ddde ) $0d508 SHISHES
O) BFES HE5508 ) é@@@oﬁr%’ﬂ S SES
D) oSroti3S V) 20g SHASGES

>
v
The correct match 1s @
DOGH F'EoD &)

Options: @v
A B € D %
m I N I A

a B € D
. m v I 1

g B © D

I. L. I W
3.

A B C D

m L 1 I\
4

Question Number : 69 Question Id : 7512365509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : There is LH surge in Ovulatory phase.
Reason (R):  LH surge induces the growth and maturation of follicles in the Ovary.

g (S): wof'E)8 3" LHO§ totnob.
580 (R) : LH 8§ ®omichos® Hige i, $0:8J (282208,

The correct answer 1s
DOGS DI RS0
Options:
Both (S) and (R) are correct and (R) 1s the correct explanation to (S).

(S). (R) Bodx %8852, (R) (S)$ 56828 58 2i306.

) O

Both (S) and (R) are correct but (R) is not thef‘@ct explanation to (S).
(S). (R) Dot 56059, (R) ()% ::aezzﬁ/%mm 5o Béo.
: ¢
(S) 1s not correct but (R) 1s correct@
(S) 853058, 53 (R) éa@é@g
) Z,
(S) 1s correct but (R) 1s not correct.

(S) H8g086 6%, 52 (R) B0G0SH.

Question Number : 70 Question Id : 7512365510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following;

A)
B)

0
D)

Bod

A)
B)
)
D)

Set-1
Natural method
Intra uterine device

Injection
Barrier

TR 2EEDBTHH®.
g -1
P8 -1
D HES

L
ﬁu“eléoﬁroéfﬁ FESo
wrd Soodd

@S58 %0

The correct match is

268 F°EoD

Options:
A B 3
. I I\Y% I
A B @
Y I I
2
A B C
\Y I I
3
A B e
I \Y I
4

1y

V)

Set - 11
Cervical cap.

Depot Medroxy Progesterone Acetate
(DMPA)

Lactational amenorrhea
Lippes loop

w&3g -11

DS =1

ﬁD::-‘éo:SJ fn:::pﬂ”ﬁgd Sogees

EFIEE) @@?gﬁ“ﬁ Jo8¢E (DMPA)

e_ﬂgm’:ef@)ams*am

@“aa;éﬁ

A
@C’@
v

Question Number : 71 Question Id : 7512365511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



The phenomenon where more than two alleles exist in a population of an organism at the
same locus on the homologous chromosomes is known as

o8 2 2w’ Srach Fard dve o PROoT” Do E08 8y, ooty ¥y
SISELARE

Options:
Co-dominance

o o o

é?e&méuaﬂgm
i

Polygenic inheritance
advadog wdodoss

o)
Pleiotrophy (19\/

2 B (LT

Multiple allelism @
V¥ ofo) JENE J

9

Question Number : 72 Question Id : 7512365512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In which of the organism. the following type of sex determination is possible
& 808 &) 2IS* & §0d HWoS admwdd Sl QTrdee DoPIDod

=4

AA' Z0 AAZZ
® ©® (?
AZ A AZ

"z Aég%

J
S

Fumea @
5000
Q/?‘
Bud
K2

<8

Grasshopper

5 Do

Drosophila
. (EFoe

Question Number : 73 Question Id : 7512365513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (S) : The heterozygous individuals for sickle-cell anaemia (Hb® HbS) express
disease phenotype and also carriers of the disease.

Reason (R):  Hb® Hb® genotype individuals are resistant to severe effects of malaria.

Tgwg (S): 2SS Adasr (HbA HB®) didociorye Sgigen Tghd $58503
&yigordo §OA wold FTETWm S5O

g6mo (R):  HbA HbSz2dogdrd Sg8gen 50808050 o750 &S vferme $00d I HESS0
$00 Gotrd.

The correct answer 1s
SISISSRIVERS IS AR PN
Options:
Both (S) and (R) are incorrect.
(S). (R) Bod&kr DOToRD 57

Both (S) and (R) are correct. @
(S). (R) Bodks H58508D

2| J
Both (S) and (R) are coﬂ'ﬁ;@ (R) 1s suitable explanation to (S).
(8), (R)Bodh 8352, (R) (S) % &88 Jden

(S) 1s incorrect but (R) is correct.

(S) 565338 5, 50 (R) $BGS8.

Question Number : 74 Question Id : 7512365514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following:

Set-1 Set - IT
A)  Cyanognathus I) Reptiles & birds
B) Archaeopteryx II) Amphibians & reptiles
C) Seymouria 1) Reptiles & mammals
D) Eusthenopteron IV) Protochordates & fishes

V)  Fishes & amphibians

ol AR 2SDBah Sw.

oe3g -1 wig -11
A SAOTMIS D 385)res, Hfoen
B) ogarpo§ ) e sores, HO5yFed
O DIroair 1) JSyren, §8mren
D) alrpogpoe }Q%"@T@@m, Ddew

(J% Bben, GosETes

The correct match is ?E
560 F*E0Y ({/

Options: &
A B L D

.\ I | %
A B # D
I I I Vv

< >
=W
— 0
< B

H »
— W
= A
= 2



Question Number : 75 Question Id : 7512365515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following factors is not included in the “Modem Synthetic theory” of
evolution?

o8 adwdd iTed® I8 BHAS &5 KB HoFhe %T@oéo?é‘ PO 0BG B EBS?

Options:

Mutations & Genetic recombination

e SBIGTo0, 2oy YddoddreT e

Inheritance of acquired characters

@Qé oere ekodolEds

Natural selection é
@)

©5)® S8=0

3_ D
Reproductive 1solation Q/E
DB ENE DDES

4 i) o /@

Question Number : 76 Question Id : 7512365516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The survivors of original population from natural calamities might be genetically different
from their ancestors. This kind of evolutionary force is known as

D88 Ibbergo ST w88 Eheoo 0 Friood adogdornr JBBOWHWNY. & FEIS
DB o) §od JFom MHYoHWY.

Options:
Genetic drift
232635 3]:?55}26



Bottleneck effect
BEIE HerSo

Stabilizing selection

w888 380
e

Directional selection

AL alo vl sTof=nTe

Question Number : 77 Question Id : 7512365517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Bird flu 1s an important disease affec@ poultry birds.
Reason (R):  The disease is caused by H N, vhg»

g (S): @ SHo S SoopgRo 56 “SPe I
sdwmo (R): & g8 HN, 03 383DeV5eniusiod.

The correct answer 1s Q/?
ﬁa@oé RAF TR0 %

Options:
Both (S) and (R) are correct and (R) 1s the correct explanation to (S).

(S). (R) Bodr %8852, (R) (S) 356808 58 2308,
1.

Both (S) and (R) are correct but (R) is not the correct explanation to (S).
(S). (R) ok 5003032. (R) (S)8o 2008 Jdde Rigdo B,
2.

(S) is correct but (R) is not correct.

(S) $85038, 5 (R) 5056 5.
=



(S) 1s not correct but (R) is correct.

, (8) 005088 6, 5 (R) $0G056.

Question Number : 78 Question Id : 7512365518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct sequence of steps that are followed in gene therapy.
Altered virus 1s mixed with cells from patient

Therapeutic human gene 1s inserted into the virus (vector)

Cells are collected from the patients

Cells from the patient become genetically altered

Remtroduction of genetically altered cells into patient

Suitable virus (vector) is selected and altered

The genetically altered cells produce the desired proteins or hormones
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Gene P*? guards integrity of DNA and hence called ‘Guardian Angel of Cell’s genome’.
It checks the integrity of DNA at

P>3 2805 DNA S H0885908 s7a&d &I S 25 SodEm BHS™ Deodd.
26 DNA SSfss & S$4S° $ad Bdob.
Options::
S phase
S &%

G, check point
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Which wave patterns of Electroencephalography indicate the possibility of presence of
brain tumors?

J@@jﬂgﬁn};}ﬁi[ﬁa}@i Q S50 Ao S’ Eadienod wIFFo Fold JrdB0s.
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Question Number : 81 Question Id : 7512365521 Question Type: ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Verticalc)

Let G. W, S and E be relative strengths o, tational. weak nuclear. strong nuclear and

electromagnetic forces. Identify the C§Q option
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Match the physical quantities with their correct SI units.

Fe8 ocdhod 78 B8 Sl Pirared” adBaiodn.

List-1 List-TI
A)  Planck’s constant I kg.m.s‘z
B) Torque ) kg‘I m’
C) Weight 1) 111?1&51
D) Specific volume V) kgx%/ =

538 -1 A\ &5 -1
A) 0§ jorossw O%f kgm.s™
B) &§, @ I kg'or
C) ardsw Q/v ) m’kgs™

D) 233 Ho5H0Sreasw ,@ V) kem’s?
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Pomts P. Q and R are in a vertical line such that PQ = QR. A ball at P1s allowed to fall freely
with zero initial speed. The ratio of the times of descent through PQ and QR 1s

P. Q500050 R&odohen dend 39 PQ=QR ibdtndd. P 3§ S0 058 drdgom
HOAS 8 208 WEym Doty T, PQ Hodasn @ﬁéoﬁ“ Bo&B 208 BHLrS
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Consider two particles 1 and 2 moving with constant velocities ¥, and v, . If # and 7, are
the radius vectors of the particles at the start. the relation between 7. 7. ¥, and v, when
the two particles collide 1s

V) 8050 ¥, R o HosrBo ok Seren 150ci0 2 0l H0KBoKos. 8o
5565 Gero TS HBIe0 7 Ho8akn 7 wond, Dok Swre edardo $o%8 7. B, V;
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Consider a particle moving in the Xy plane with velocity = a bxj . where i and j are
the unit vectors along x and y axes and “a” and “4’ are constants. If the initial position of the
particle 1s x = y = 0. the equation to describe the particle’s trajectory in the plane is

Xy B00¢5* B0 V= ai +byj 8 Hosrdits) Sed) B0KBothEn, ROES* | $60ws J @
X S08050 Y 0§dfods’ J5rof d&Fer Hobosn ‘a’ Sodasn b e 2ETH. S0 B0E),
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A ball of mass 0.45 kg which is initially at rest is hft% bat. The bat remains in contact
with the ball for 3 » 10 s. During this time perigd the Torce on the ball by the bat is given

as .P(r}: [(axlﬂﬁ)f—(ﬁxlﬂg]rE]N whe %ﬂnd f3 are constants. The ball’s speed.

mmmediately as it loses contact with the 1s 20 m/s. The correct relation between

aand B 1s Q/?"

Fend Jodmr $08) 0.45 kg@f@ﬁ@ 208 Tg&EE TErdo. gl wod& 3 x 103 5 NGS*
GO0, & TO J0HS” gl woF R SeoniEd oo F(f) = [(ﬂ’xlﬂﬁ)r—(ﬁ‘x lﬂg)rz]N.
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Two horizontal forces F; and .E act on a ball of mass 8 kg. The forces are such that
E =(14N)/ and [F,

1 sec. the angle between two forces is

= 20N . Ifthe x component of velocity (v_) changes linearly by 3 m/s in

8 kg (555078 Ko 208 F1 S00csw E, Bodkh §82 057088 neren $AB093)0. & e
F, = (14N)/ 00080 [F,|=20N. 3o g, xeoto (v) doborr, 128506 3 m/s m
o) BobB & ok were My Ho §okn q

Options: QN

. 30° é(l/
45° C)

X 60° Q/$
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90°
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A particle of mass 10 g is thrown vertically upwards with a speed of 20 ms™. The work
done by the gravitational force during the time the particle moves upward is

10 g(&6350°8 Ko £eo°Q) DLRHM™ 8 20 ms™ SE8* 220 I . Em0 8 HoSrBRP)

S0’ Hhdiesdo weo DS B

Options:
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In a process. certain amount of mass gets converted into energy. Let all the energy so
converted be in the form of photons. If 700 x 10'* Hz is the mean frequency of the photons
and if there are approximately 10°° photons, what is the approximate mass that is converted
into photons? (Assume h=6.6 x 103*Js, c=3 x 10® uls_l)q

"%

o8 BB, Fod ((Hgom3 ¥ Sordodood. & D §aéd Jngo ¥§ Piroe
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Options:
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Assertion (A) : If the ice on the polar caps of the earth melts. then length of the day will
increase.

Reason (R):  Moment of inertia of earth increases. as ice on polar caps melts.

RHEIB50 (A) © 2 Gy Ipore IGHH) Mot E0AB, wE T BwE) U DgHd
Felebla ST S TeTAR

80 (R) : e P IpTre SZHH Soow g0A8 Zrdo BwE) 2880 @ S0850
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The correct answer 1s

5O DATTHE

Options:
Both (A) and (R) are true and (R) 1s the correct ex tion of (A).
(A) S08c3n (R) @0 Bodsr dz2d00 H0dasn (R) (A) 8§ $8 220008 D58,

1. &

Both (A) and (R) are true but (R) 1s nﬂt@ orrect explanation of (A).

(A) %08050 (R) en Bodr d2dn ) 058 (A) 8 58 wond JdT 5.
2, J

(A) 1s true but (R) 1s falsi@

(A) du3n 59 (R) 8.

Both (A) and (R) are false.
(A) So805 (R) ed Bodd S5y.
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Consider a thin rod of mass 1 kg and length 1 m. The material density of the rod at a distance

x from the left end of the rod 1s proportional to \/; . The moment of inertia (in kg-m?) of the
rod about the axis passing through the left end and perpendicular to the rod 1s

1 kg (55073 S0dosn 1 m 2EHS) SS9 §§=‘;® H0MhBotod. Qi wowh Sod T
X 8r8os® &F) 8§ HTE Fods VX $%h eHStirpirdes’ HHp. §48 vonom
ot G FS Mo 39 oo Hbom §§ gy prddsn (kgm” o)
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; e . T
An object was found to make oscillations governed by the equation y = cos” (mr + E] -0.5.

The amplitude and angular frequency of these oscillations. respectively. are

T
y= cos{aﬂﬂ 0.5 $28557) ©5305: 2.8 5509 Somren TRHE K500,
& FoTo §0dd HOMNE Ho8oin FBah FH:Ddgo Jenden HEXT

Options:
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A particle of mass m 1s placed at a distance x from one enc%a uniform rod with length L
and mass M. The magnitude of the gravitational force (Rg/ the particle from the rod is

O

GM |
F= ﬁ( 111] where f3is constant. If x =— then Wa]uﬁ- of § will be

L2
L>&s So8odn M Es50°8 o 868 é@ 2.8 I8 od x drdod” mESHgod He
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A rectangular frame of some mass has to be suspended symmetrically by two mass-less
strings of equal length on two supports. It can be done in one of the three following ways
as shown in below figures. The tension in the strings will be

DA;R FEHen HOK BH5078 SrdIod ol do@eododdriod Sok erTw Dol w8
8¢ SS8FEE WigoBndo FYS0M BrdloHIBD. &I §od algudd Sord dgreor
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A vessel contains oil (density = 0.8 g cm™) over mercury (density = 13.6 g cm™). A
homogeneous sphere floats with half of its volume immersed in mercury and the other half
in oil. The density of the material of the sphere (in g cm™) is

2§ FEST FESB0 (od = 13.6 gom™) wIRS Bodw (Fogd = 0.8 gem™) w
€TI0, 2.8 DB FES0 TR et 0N AN FHEI0E KT HEE @Qa}"?’io B0 S
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Work done in increasing the/zét of a soap bubble from a radius of 3 cm to 5 cm is nearly
(surface tension of soap solution = 0.05 Nm™)

2.8 209 20dd TrgrdSn 3 cm ool S cm o8 DoIERE 2VIo I TTYT
(Be0) (@TH0 BwY Sossgs =0.05 Nm™)
Options:

(0.70 ) mJ

(0.64 ) mJ



(0.30 ) mJ

(0.58 1) mJ
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A metal block has a linear expansion coefficient of 8<107 / °C and its density at 20 °C
is 11g/cm’. The approximate temperature at which its density becomes 10 g/cm? will be

2.8 S BBy Bood), BYGTSE S KoeagHoo 831075/ °C Ho0csn &d Fos 20 °C o 3¢
llg/em’. od Fogd 10 gom’ ehed sdedsd SPEd dend Sodrdr
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The area measured on the surface ofa solid body of coefficient of linear expansion « is A
at some initial temperature. If the temperature changes by AT, the approximate change in
area, AA 1s

25 TE O IS & HYTgE Dddn o BOAS wl Gy SNP doon FONIS
STogdn A R HSS' Srddy ATeowd dodn Irogind’ Seorh 3r8), AA DIrdomr
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A gas undergoes a thermodynamic cycle as shown in prgsSure-volume diagram below. The
heat transferred to the gas i1s 300 J and 140 J along®ath 1 — 2 and 2 — 3 respectively. The
internal energy i1s changed by —260 J along pa%—an 1. The work done by gas along path

1 253158 C)

HL0S" ST Do DES - mé“a;%%@m G0N wl TS0 GRASE HBow
$ch SHowod. 1 — 2 H58aiw %VS ST T0° TO3YIE 2ESP00DE RO
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1 52 > 330b Tc50y Dok YR

A 3 (Volume and pressure are
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Options:
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The molecules of a monoatomic gas has r.m.s. speed v at 27 °C. It is heated until the r.m.s.
speed becomes 2v. What is the new temperature?

27°Co 3¢ Q8 HESrend TLOHS weeoHe TL.IM.S. @&:&R} IS, H& 2Vesio 2880
38 WP, oD T FE SIS Jod? (I/Q

Options:
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A source of sound gives 5 beats per second when sounded with another source of frequency
100 s™. The second harmonic of the source together with a source of frequency 205 s™
gives 5 beats per second. The frequency of the source 1s

a8 G 2d8dnd Fdidge 100 s e S8 G wdgos cﬁﬁgﬁ}oééi’oé @& DEDE
5 AdyodTrod EOND0H. 20850 B, Tody Srorg 80, 205 g FPIgo e DT
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Single Line Question Option : No Option Ori 7on : Vertical
A transverse wave pr{}pagati,é along x-axis 1s represented by

y(x. 1) = 8.051‘11[0.5;m _Amt— 9

where x 1s in meters and 7 1s in seconds. The speed of the wave 1s
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' %ﬁter. A ray of light 1s incident
refraction that the prism must
glass at the long face of the glass 1s

A 45°-45°-90° prism as shown in the figure is immerse
normally on one of its shorter faces. The minimum ir
have if this ray is to be totally reflected within t

(Assume refractive index of watern_._=1.3) @

O
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In a double slit experiment two interference patterns are seen on the screen. One pattern is
due to light of wavelength 500 nm and second pattern is due to light of wavelength 400 nm.
The distance between the slits 1s 2.5 mm and the distance of screen from slits 1s 1 m. The
separation on the screen between the fifth order (m = 5) bright fringes of two mterference
patterns will be

o)

2ol DOBL (HAFE0S” Toky H388de Jrgorten @iﬁﬁ}@oﬁ“m&. 2.8 Qrgoran 500 nm
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An electric dipole of length 5 cm is placed in an uniform electric field of 5 > 10° N/C at
an angle of 30° with the charges + 10 mC and —10mC on the dipole. The dipole experiences
a torque of

5 cm >EHH) DBgE AeE)TR), J868 D&ogE o 5 % 10°N/C &° &2 & o +10mC
0050 —10mC Debgmdres’ 30° FabosinodTd. Gidysten S5 6,

Options:
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A parallel plate capacitor of two plates, rith area 907 cm?, is separated by 5 mm air-gap.
The capacitor 1s initially connected to source. When an unknown liquud is filled between
the plates so as to fill the air-gap, p-gdditional charge of 95 nC 1s found to be flowing onto
the capacitor from the 100 V 504{: ~ The dielectric constant of the liquid is

Lﬁssum& =9x 109 Nmzc_z}
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An ideal ammeter is connected to a battery as shown in the figtige. The currents through the
5.0 Q resistor and the 2.0 € resistor are, respectively Q\,
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‘When operated at 240 V. a current of 10 A was seen flowing through a heating wire and it’s
temperature reaches to 1000 °C. If the temperature cnefﬁcie@f the wire is 1 x 107/ °C,
its resistance at a temperature of 0 °C is Q

240V 58 52 Su59d0, o 38 Sewak@d) SYRD 10Ad85S Sassn ©5700
o0 &GS 1000 °C % Beogootnod. & Fe Kegsn 1x 107/ °C vand

T 6%SH0 0 °C 545 @

Y &
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4 Q

12 £

8 Q
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Two very long straight wires each carrying a current I are placed at 7 = ]j and # =7
The wires carry the current out of page (in ko direction). If the ma gnitude of magnetic field

; . g A | — I ;
due to current in wires at pomt 7 = 277 1s ‘B‘ = a[ pT':’] . then the value of constant o 1s

(1, 1s the magnetic permeability)
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An electron is moving through a uniform magnetic field given by B = a[f - 3;} T .where
o 15 a constant. At some instant, the electron has velocity v = [f + 2;) m/s. If the magnetic

force acting on the electron 1s .{3 R 50 | b N)f' . then the value of o will be

B=a[i +3j]T & &rdosnds D568 eobaned YEos® ol JoES ShwmbHd
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A magnetic dipole of moment 7 is placed in the magnetic field B . Itis free to rotate about
an axis about which its moment of inertia is L It is displaced by a small angle 6,(6, << 1)
at time f = 0 s and released. The dipole undergoes simple harmonic motion with

2
; : ; . o
angular frequency . Its potential energy at time 7is : (Assume sin(e) = a. cos(ar) =~1— 5

if a<<1)

a7, 08 [radgdn i o @00, 08 BIGTR) @oid, 08 go B & ¢0dTd.
2 wfo Jborr 2Edy @rHssin [ehHd o vgo Jok *‘Eoﬁg:ﬁt;r? Bowred. oA =05
$¢8 wonEeadn 0,(0,<<1) % FdEfodo Bohod S80I, Geyo, W8°Hadd @”563@550@"‘"
28¢ ToEE SoTok SHo00d. t HRoho S T HeeE Jeod : (sin(a)=a

2

(74
“8050 CGS(H}::I—T m eSS0, o<1 @mé;@

Options: Q
ptions: : (1/

(
—mBLl 2O [mr)J @
@

o e S @
_HFBLI—?S]H (mr}J %Q/v

2, &

—-mB { ] %J cos” (ar)

2 |¢:9?J

3.

Brfl ;i -
—m L —?J sin” (wr)

St

Question Number : 112 Question Id : 7512365552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



An alternating emf source of 100 V at 50 Hz 1s connected to a circuit of resistance (107w) Q
and imductance of 0.173 H. What is the phase difference between current and emf

(101) Q o TS5 Ho8cin 0.173 H © x063x)end) Socs»d8 S0 Hz o 5¢ 100 Ve
57088 D.T).0.0 BITR) F0FHH0 FFH. IBE PITHTE0 DO J.TVW.0 HEs

B3 DB Dos?

Options:

_UC.“'
45°

30°

O)
(\/Q‘V
60° A
4. @
@

Question Number : 113 Question Id : 7512365553 Question Tywe,; MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Ver

A current I =1, sin [a}r = g) ﬂnw@il AC circuit, if potential E = E,siner has been

applied. The power cuusmnpgj@the circuit will be

: ; : : T
AC 2e0gs H00ird8 FBAcHS E = Eysinar Q edhodgodzy I1=1, 5111[&};‘ _E] QogS
RIS (DIronod. Jochod” FBdy JANTLO IS

Options:
E{}Iﬂ

NG

EI

2



Zero

B08)
4, '

Question Number : 114 Question Id : 7512365554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the intensity of sun light outside earth’s atmosphere is 1.4 kW/cm?, the corresponding
maximum electric field amplitude is, approximately (Assume po =47 *x 10~ H/m)

GrT e 5600 aohi $rdgTod 88 1.4 kW/em’eond R osrs K635 dEgs B
ol H08 Jend (U =4mx10~7 H/m @mé’sﬁ:f@

Options:
p 1.4V/m é
: O

100 V/m @
1x10° V/m &%

1 x10° V/m

Question Number : 115 Question Id : 7512365555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A monochromatic source of radiation is operating at 100 W power. The source emits
2 x 10 photons per second. The wavelength of light will be (h = 6.67 x 107*T s)

2.8 DESY D8Bm 22585 100 Warsagso 56 $B:3308. 2do gk 2 x 107FerSod
ST BBo8. T08 BSoKFE g0 Jewod (h=6.67 x 107 I s)

Options:



300 nm

400 nm

600 nm

500 nin

Question Number : 116 Question Id : 7512365556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ahydrogen atom 1s in a state with energy —1.51 eV. In the Bohzmodel. the angular momentuim

of the electron in the atom with respect to an axis at the@c us. 1s (i =1.05% 17 5)

N

2§ TERS 565,009 —1.51 eV #§ Ko &56. 56 SHrT S, HEErYS'D
JogS B, Fhah @SgHED sz‘@ﬁé;’m 38 %) w¥o Sdorr

[i: 1.05 xm—”Js) Q/v
2w
Options: &%

3.15 x 1072* kg.m?/s

1.59 x 10~ kg.m?/s

6.99 x 107 kg.m?/s

2.40 x 107* kg.m’/s

Question Number : 117 Question Id : 7512365557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Tworadioactive materials X, and X, have decay constants 104 and A respectively. If initially
they have the same number of nuclei. then the ratio of the number of nuclei of X to that of

1
X, will be — after a time
&= e

Soth T&Rre0)8 Sorgren X Ho0din X, © Sowsd porosten SHidm 104508050 Aew.
SOGES" o8 SoEisre Jopg ddrdBs, X, S Sosre dopgdr X, &' Sodste dopgsr

1
fo A8 Jodsrwo SLTd — wHBk?
e
Options:
1
104
1. ‘\9
1 v

Question Number : 118 Question Id : 7512365558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A potassium chloride crystal has an energy band gap of 6 eV. What wavelength of light for
which the crystal 1s completely transparent? (Assume he = 1242 eV-nm)

Feruoho §0d $)BE50 B8, 98 3¢ wosSn 6 V. $)BE5N J 5708 S8R gIs
Sowrdor FEEGEPEos? (he = 1242 eV-nm o oH88050)

Options:



. 211 nm

199 nm
2.

185 nm
3.

163 nm
4

Question Number : 119 Question Id : 7512365559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the circuit shown below, if V. =V, sin ot and the diode is ideal, the average value of
voltage across R, 1s (Assume source resistance 1s zero) (b

§od DS Sochos®, V.=V, sin ot 508050 c&&é@dﬁcﬁgéoé@é@é. R, 9580 feo
S8 FBE Dend (258 G0 BrEg5d indgsn)

Y

D

Options:

Vv

m



Vi
T

Question Number : 120 Question Id : 7512365560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement among the following.

Bod T8S” BOSX ¢8I MfoWod.

Options:

AM detection 1s carried out using a rectifier and an envelope detector.

2§ D080 D0 o8 BTES FEFA) IBrDY AM TS50 SR
les (o — o ) and (o, + o_) only.
ating signal)

Amplitude modulated signal contains fre
(o_and o_ are frequencies of carrier and

SOl D0E SrdogDE wund $T880
Sr@ado wotran. (0 0w 0ee
FSHargen) Q/

High frequency signals can not be transmitted to long distances.

sedargen (0~ ) $080sn (0 o Jeo
T Ho00in SrdgSEl D dosEren

058 DHYIgY dosEroh Tor drorw S8 Hrdo TabBhw.

Long distance communication between two points on the Earth is achieved through
reflection of electromagnetic waves by Troposphere and Stratosphere.

Frao P Soto DodoPe Hdy 98 drdl) Joddhn, LT wnde Doloin G
38w So IR ISy 08 oo HoTIGIH0 To° FHAD.

Display Number Panel: Yes



Group All Questions: No

Question Number : 121 Question Id : 7512365561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many of the following orbitals have two angular and one radial nodes?
3d ; Ad ; 5f: 3p

ol shirSes® ok §Hoh Fhw, wf TS Thww dod J)?
3 &g : 80

Options:

0

Question Number : 122 Question Id : 7512@62 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the wavelength of an electronic transition in He™ is 23 nm. the wavelength corresponding
to same transition in hydrogen atom in nm is

He™ &° dogS 505555 23 1m o $50KBY g0 e5585008, @RS HS8ra0PHs” of

DOBES 2BHEras @IVl SGondEgsn nm od’

Options:

92

46



Question Number : 123 Question Id : 7512365563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following in the correct order of ionization enthalpies
L1, Be; B.N.O

§ob TEY ORNIBLS JoFOYW IO VoS FHoSwS' wdd)os
Li, Be, B. N. O

O)
Options: '\/
%

Li<Be<B<O<N

[i<B<Be<O<N @

o Q/?~
Li<N<Be<O<B

3_ &

) Li<Be<B<N<OQO

Question Number : 124 Question Id : 7512365564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statement from the following.

§ob Tr8S” BB VX8 KoBoWod.

Options:



Oxides of the elements on the left of a period are basic.

28 VOGS JEDIY GH) oy @E‘jﬁm 528 Hodn fod.

Oxides of the elements on the right of a period are basic.

w8 D0CHES” BEIY I Srose %%5@3 58 oo Bod.
2

Oxides of the elements on the left and right of a period are amphoteric.
2.8 H8cH&eS® JdN Hodadw é&&é‘?{g} ﬁ;éﬁ Soreste ﬁ‘:ﬁ%ﬁm &Sﬁaﬁgwﬁé Aok

e,
3

Oxides of the elements on the left of a period @ 1dic.

%5 DOCHES” AdHIY ) rosTo @23\ ¥ Hdn o
4 =

Question Number : 125 Question Id : 7512365565 Question "'d CQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : V

Which of the following represen most stable Lewis dot formula for &5 g

9

§oB TES' COY & wif BB Ho roar i e Py Srdods 287

Options:
=
% T (, 20
0.
1.
; I
Q C 0
:Q:



Q11QZZO
:Q:
3
v 2—
Q:Q::O
O
4.

Question Number : 126 Question Id : 7512365566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (A) : PF_ has square pyramidal shape.
Statement (B) : BrF. is isostructural with PF._.

O

D58 (A): PF, S8 Sorargsd essm8hn Sdnod.
QS8 (B) : PF, & BIF, 55007 00&” @Qﬁm &.

The correct answer is @Cj
SOG08 BEPETSS \~
Options: @
Statements (A) and (B) a{'eguot correct.
(A). (B) o $8 ®ondd 5°9.

Statement (A) 1s correct: (B) 1s mcorrect.

(A) 56c088; (B) 96 wondd 5.
2

Statement (A) 1s not correct; (B) 1s correct.

(A) H50 @ansd 578 (B) 88 eondd.
)



Both statements are correct.

, Doty dStmen Hiwoon.

Question Number : 127 Question Id : 7512365567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A closed container has 1 Avogadro number of gaseous molecules at 27 °C and 1 atm pressure.

The pressure of the same gas at 72 °C in atm 1s

27 °C Hoboin 1 atm w&s0 3§ 1 oFmE dopg o Trdin emoPeo ol Sardds)
TES® eamon. ©f Jaind 72 °C $¢ HESsn am o

Options:

2.30

0.87

3.17
3 @

Question Number : 128 Question Id : 7512365568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the kinetic energy (in ergs) of the nitrogen molecule at —73 °C?
=S wend HB2TE (erg 0®) —73 °C 5§ Jod?

Options:

4.14 x 107

3.0x 107



4.14 x 10

3.0 x 10"

Question Number : 129 Question Id : 7512365569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the coefficients v, y; z, p, g, » and s respectively in the following balanced equation?

XHNO, +yKMnO,  +zH SO,  — pHNO, +¢K,SO,  +rMnSO,  +sHO

Haq) Haq) 3(aq) 4aq)

B0 Sogo BoES HDEGHS’ X, ¥, Z, p, ¢, F 508050 s Hesed SEIT D7
xHNO, .+ KMnO, +-H SO, —pHNO, -+ g@ oy TMDSO, o+ SHQO(@

Options: %

2 2 1.1 3, 2.9 /\%

)
L
=
n

= e

Question Number : 130 Question Id : 7512365570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Molality (m) of 18 M H,SO, is. approximately
[d=1.84 g cm™. Molar mass of H,.SO, = 98 g mol ']

18 M H,SO, 30o-d8 (m) B
[d=1.84 gem™, H,S0, 375 @5g0°3 =98 gmol ']



Options:

36

1.8

18

237

Question Number : 131 Question Id : 7512365571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When 0.8 g of glucose, C H, ,O,. was bumnt in a bomb caln@; according to the following
equation. the temperature raise 1s found to be 2 K at 1 @

CsHpOg() + 60, —6C0,,, +6H,0 &(1/

If the heat capacity of the bomb calorimeter is @A K. the approximate enthalpy change
of the reaction in kJ mol™ is

(Molar mass of glucose = 180 g mol™) @

0.8 girs™s, CH 0, %0 a8 er %&b&é&gﬁi Sedo Basorr, §od dESo P50,

1 atm $5¢ eIHSS’ "D}daﬁxﬁ& ™ 8o BEI8.
CH506(5) + 605y — 6CO, 5y + 6H, 0y

3502068 D3r3%5» 6.8KkTK " o008, D w855 Jomd&® $ody kI mol ! o6 dosrdomr
((r&E oenzrdo = 180 g mol™)

Options:
2 x10°
1.
—1.% 10°
2.
=68 x 10°



3.1 x10°
4.

Question Number : 132 Question Id : 7512365572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the following reaction

If two moles each of NH, and O, are allowed to react and equilibrium is attained after 50%
of the O, has reacted, mhat 1s the value of equilibrium constant (K .)?

Bob Wogdo HoWok.

ANH; o0y + 505y == 4NO ., + 6H,0 1, '\C/))
NH,, 0,86 2 moles $656° 70, 50% O 5%\9‘@ S8 HePs 26\B5TS,

ddoerpd Yurosin (Kp) Je0d d08?

Question Number : 133 Question Id : 7512365573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If the pH of a solution containing 10 mL of 0.5 M CH,COOH and 10 mL 0f 0.25 M NaOH
is 5. What is the pK_ of the acid?

10 mL 0.5 M CH,COOH. 10 mL 0.25 M NaOH &) doFdn @dewo pH S wond

esdoo pK, dod?

Options:

0.25

0.5

O)
(\9‘&
25 A
4 Q/
O

Question Number : 134 Question Id : 7512365574 Questio e: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : ti

How many moles of O, is evolved 1 one mole of MnOj is reduced to Mn** by H,0,

m acid medium? ,@

wHoirdted” &8 36 MnO,, H,0,& Mn** gadoBdmo Jododos” D{’ﬁg&éﬁ O,3rdo

Qopg JO&?

Options:

135

2.5



Question Number : 135 Question Id : 7512365575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the 1ons which form hydrated chlorides from the following :
Bod 8S" uP F0k0% AEPD wairsD Hgotobk.

a) Ba®? b Er o S i 5
e) Mg~ f) Rb of Ca®

Options:

o)
a. b. e (\9%,

b. d. g

Q(\)\

Question Number : 136 Question Id : 7512365576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the reaction in which an adduct is formed?

D B8y H08DE Q) ISNDB0E H80W0E?

Options:

B,H, +CO——>



Na,B,0, + HC1—22

Z.

BF, + LiAIH, ——
>,
4.

Question Number : 137 Question Id : 7512365577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Formic acid reacts with concentrated H,SO, at 100 °C to liberate A. When A is passed over
heated ferric oxide. B and C are formed. What are A. B 3165 respectively?

oY

100 °C 5¢ 96,5 esdosin me H,SO, & $8550 DS Bdood. IABDS IS
6B i%ood AD HodbSyde BRdain C oo ZHderan. A, B, C oo S&0m D27

Options: C)@

CO. Fe. CO, @
1. @v
CO,. Fe. CO &%

CO. Fe. H,0

CO, FeO, CO

Question Number : 138 Question Id : 7512365578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In the following sequence of reactions. the gaseous species A. B. D, E respectively are

Bob worgEdodns” A, B. D, E o700 ardoen S0

[(2) = ()]
CE,Clyyy — A, + B
03
D0y
©), N
E+0O, (g} (\/

Options:

&
CECL, €1, €1, ¢lo &)

Oy B €Dy QL
@i, OEEY. €.l

Question Number : 139 Question Id : 7512365579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The TUPAC name of the following compound is

ob d3¥So TUPAC &

NO

e

L

C,H

Options:

3 - ethyl - 4 - methylnitrobenzene

S
3- 285 - 4- 2035 I BoES q/Q
2 -ethyl - 1 - methyl - 4 - nin'obeﬂzenecj@

2- 2865 - 1 - 2036 - 4@@*@30@
3 - ethyl - 4 - methyl - 1 - enzene
3- 286 - 4- 2085 - 1 - J5'BoES

1 - ethyl - 2 - methyl - 5 - nitrobenzene

1- 286 - 2 - 2086 - 5 - PE*BoES

Question Number : 140 Question Id : 7512365580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In which of the following the C — H bond distance is longest?

§od o8S° BAS° C—H 208 &850 odiod FEINH?

Options:

C,H,

. 2

C,H,Br, f\c,b
%

Question Number : 141 Question Id : 7512365581 Question Type: &ption Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the hybridization of carbons 1 an spectively in the below compound?

v

§ob ﬁﬁogﬁéﬁuﬁ“ 5“6;;5 1 éﬁo&%%'ﬂ DoE8&BSnen SSBm 299

A

3
4 2
- 1
6
Options:
sz ! SPE
1
Sp . Sp



T R

| %]

Sp . Sp

Question Number : 142 Question Id : 7512365582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A compound is formed by atoms ‘A’ and ‘B’, B atoms form ccp arrangement. If A occupy

1 . :
— of tetrahedral voids. what 1s the formula of the compound?
3

A, B 383reny 28 éﬁo&ééﬁu Ddﬁj&u& B S8Srendoo cep Erdoym Dfﬁgi&a@“o&:. A
1
3

Jerirgen SoErod sEodsLons, mﬁogﬁéu@%ﬁr 267

Options: &

A.B, C)Q/

A;B, Q/v
K2

Question Number : 143 Question 1d : 7512365583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A solution contains 5 moles of X and 5 moles of Y and has a normal boiling point of 90 °C.
The vapor pressure of pure X 1s 300 mm Hg. What is the vapor pressure of pure Y at this
temperature?

53rSo XHohs STrde Yo @demo argde b eaid 90 °C. ©& Xerdyaddo
300 mm Hg o3 & 3¢ HF Y ariynddo dod?

Options:

1220 atm

1220 Torr

1220 N/m?

. 1220 bar &
4 v O@

Question Number : 144 Question 1d : 7512365584 Q pe: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatior : tical

Consider the following equﬂib,l{ggor benzoic acid in benzene
2CsH;COOH—=(CzH;COOH),

If “x* represents the degree of association of the solute then relationship between total
number of moles of particles at equilibrium and van’t Hoff factor (7) is

BoF'ons wdo Bodad” ol JHeRPE Hdoodod
2C¢H;COOH+—=(CsH;COOH),

X O30 B0 HTUY @5 BonSLB SHeRd H§ Indo o Irde Jopgs
TolTD K58 (1) Sy dowoso

Options:



b | =

1=x=j
>
X ;
l-—=i
2
3
2x=1i
4

Question Number : 145 Question Id : 7512365585 Question Type: MCQ Option%g : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the electrochemical reaction between gf}\ﬁld Clﬂg} electrodes m 1 litre of
0.1 M KCl aqueous solution. Solubility product 1is 1.8%107%° and F = 96500 C mol ™.
When a current of 10 pA is passed. calmlatt@zg; 1ninmum time in seconds (s) required to

observe the AgCl precipitation in the gal cell.

1 986 0.1 M KCl zomdnos’ %&maoﬁ:@ CLy oy doére oy Ddogd Saraiod B85
%038 0%0s. AgClissoher ;@: 1.8%¥107% %605 F=96500 Cmol ™. 10 HA DS
Dobdtond AgCl eosghin merid DLEnG® JBYELras Dy A0 Todn WEdS® ()
8§ oo .
Options:

10

346

174

3.

174



Question Number : 146 Question Id : 7512365586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. For a first order reaction (A—} P) the rate constant is 5 » 10~ min~! when the initial

concentration of A=2 x 107> M. If the initial concentration of A is doubled. what will be
the rate constant (in min™) at the same temperature?

A @6og mgs 2 x 107 M )P oG B0 W J—"x—}P) Sew {orogo
5% 107 min™. A@rdoss mes B3¢0 wonddyd o ears 58 den poroso (min o)
DOE?

Options:

1 %1072
25 % 167

5% 107
1x 107 @

Question Number : 147 Question Id : 7512@?u&tion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori tion : Vertical



. Match the following :

List-1
Tvpe of Colloid
A) Aerosol
B) Emulsion
C) Foam
D) Gel

Bod TP 23808t Hm.

as A Lo |
ferond S8
A) JdonfFrdS
B) a0l
C) =
D) a8

The correct answer 1s

é&@oé 23aT°220

A ® ©
1 I\Y A% I
@a @ ©
I I m

2.
@ @B (©

List-1I

Phase in medium
I) Solid in solid
) Liqudinsolid
) Gasinliquid
IV) Solid in gas
V) Liquid in liqud

oirFEoes” |ard

I @%60@ QDT B0

L

SHTPoS® T go

G G
@ BISTEoS® S asndTEo
L (5]

&Jm THENITFoS BoS3TYo
Q/?‘

V) Bssmgos’ $Sdmgo

(D)
(D)

(D)



@ ® ©O O
I \% I I\Y

Question Number : 148 Question Id : 7512365588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[dentify the auto reduction reactions from the following®
Boh 58S’ Jgodoo EoElm Wdgwdo Kofolod

a) Fe;0, +4CO——>3Fe+4C0O,

by Cu,0+ %Cqu—ﬁ(‘u + %SO2

"

¢) 2PbS+PbO——3Pb+S0,

d Cu,0+C——2Cu+CO

Options:

a.d

b.d

Question Number : 149 Question Id : 7512365589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the precursor which is diluted to make H,SO,?

Q FEmal 2050 T H,S0, ScsrsH@ande?

Options:



50,

H,S,0;
2.
H?S,}O?
3 Ll
SO,
4

Question Number : 150 Question Id : 7512365590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following oxoacids of chlorine in their d@ﬁiﬂg acidic character.

o Q&S @52}*55;:&:}&3 o plls! E@éﬁ oz do SoBooes® ;36;](‘515033.

Options: @

HCIO, > HCIO, > HOC1 > HCIO,

1]

1.

2

HCIO, > HCIlO, > HCIO, > %0{4’

HOC1>HCIO, > HCIO, > HCIO,

HCI0, > HOC1 > HCIO, > HCIO,
4

Question Number : 151 Question Id : 7512365591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct sequence of paramagnetic property of the metal 1ons is

=

ST BSrQw ST G 0E FTL B oS (EHw

Options:



M e sV 0

7 ¥ i
M2 =V s> = ot

Mn% > Cr¥ = Cu? >V

e vE s ot s vt

Question Number : 152 Question Id : 7512365592 Question Type: MCQ Option Sl‘@ng : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many different compounds are possible fm‘@ formula, .K3 | Co(oxalate),CL, |
assuming octahedral geometry for the Coha]t-@{lex 1on?

Serd $035 orSEH efves wie SIED K,[Co(oxalate),ClL, | Sdners® 23)
36 T JdoyFTen éﬂdgéz@@m?v

. &
" One K2



Question Number : 153 Question Id : 7512365593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following monomer is used to prepare Neoprene?

Eod TES® IBFPISD SIrHBSNLE SHRrhod IS HE A8?

P
Z. Q@
CH, q/
//I\/\ é
3. | @C}
o s

Question Number : 154 Question Id : 7512365594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

- Which one of the following is Nucleic acid chain?

Bob T&S° Efw*gém.:ug 3 FHopoo &7

Options:



Base

|
fSugar — Phosphate 4,

sdo

|
Fosgo —a5y5d,

[ Sugar — Phosphate — Base 1.
Fug6 -2y — 5o,

2
fPhosphate — Sugar — Base }, (b
g -ags-good, QN

: &‘\/

- Sugar @
[ I|’Imsphate —Base 4, @O
589 Q/v
2 @v"%&.‘i — 5ol &%
4

Question Number : 155 Question Id : 7512365595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the suitable structure for antibiotic chloramphenicol from the following?

Bod TES® oD DIEE edwid drotadrds Gwg KBRS AT in wotod?

Options:



HN CHCl1,
0,N \n/ 2
O
1.
OH oH
HN CH,C1
M
0 (b
2. \/
OH on (1/

Question Number : 156 Question Id : 7512365596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the relation among the rates of following nucleophilic substitution reactions?
§ob Srg8TrLOF D880 Wdge B Sowogo Hgoiod?
I NH, Cl

NaNH, NaNH,
(k) (ks)

NH,
NaNH, @ NaNH,
(k) (k)

Options: @

k>k ; k,>k

T
[

NO NO,

Cl

b
f,
4

g R A

Question Number : 157 Question Id : 7512365597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The product (R) of the following reaction sequence is

E08 HTGEIBNS'I S0 (R) 2&?

0
P é oo Na CH;l
CH,MgBr HOH (P) > (Q) ———— (R)

Options:

o S
3_ agh /@Q/
éOCH3

Question Number : 158 Question Id : 7512365598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What are X and Y respectively in the following reactions?

Sob tﬁd%fﬂ@i X.Y e 5&%5m 22?

_ &2
CiO,CL, /CS, H,0
o Ve B
Toluene - Benzaldehyde
(&5°05) _ @ (BorirE)
€10, /(CH,CO),0 " H;0 /f_\.
283 K f
Options:
CoH;CH[OCI(OH),Cl] . C,H,GH(COOCH,;),

CgHC[ocr(0H), CI], CﬁHbCH(COCHq]

2.
CgH;CH[OCI(OH)CL ], . CgH;CH(OCOCH;),
=
| _0COCH,
. C H.CH
CsH;CH| OCr(OH), | s S oo
4,

Question Number : 159 Question Id : 7512365599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (a) : Carboxylic acids with C,  and above are insoluble in water.
Statement (b) : Ethanoic acid is having less boiling point than propan-1-ol.

D58 (a): C 08050 2 57078108 esdren A8BS® §86Y
58 (b) 1 20§ shdn Bw), PSS FHo FIS-LLS o8 8590

The correct answer 1s
éﬁ@oa’n SISl RS
Options:

Both (a) and (b) are correct.
(a) 500050 (b) e H6GBSD.

Both (a) and (b) are not correct.

&
(a) 508030 (b) @0 J8&LED 529,
N O

3 @
(a) 1s correct but (b) 1s not t:«:rl@?~

(a) 653058 5% (b) é&%@?dﬂo.

(a) 1s not correct but (b) 1s correct.

(a) 5658 57 570 (b) $80S8.

Question Number : 160 Question Id : 7512365600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Arrange the following compounds in increasing order of their base strength.

o SAFTrod T8 T w00 IR Eod’ wd)od.

(CH, —CH,), NH

a

Options:

c<d<b<a
c<b<d<a
a<c<b<d

a<b<c<d

NH,
CH,-NH, ©/

b C



